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It is developed the method of synthesis of multivalued neuron element with vector 
of structure from Galoi’s field. The algorithm of creation construction is shown and the 
examples of realization this neuron elements is given. 
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1.1. (���
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�p, (3-1)/2=1 –����������
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0, 21} = {1,2}.    
1.4. (���
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�#�������L sign z����
    
  L sign 1=20=1  (1=20) 0(3-1)/2 ≤  0 <(0+1)(3-1)/2  
  L sign 2=21=2  (2=21) 1(3-1)/2 ≤  1 <(1+1)(3-1)/2 
1.5. (�� ���
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ω0 = 0,  ω1 = 0  
f(1) = L sign (0 ⊕ 0 ⊗ 1) = L sign 0 #����
�������� 
f(2) = L sign (0 ⊕ 0 ⊗ 2) = L sign���#����
�������� 
 
ω0 = 0,  ω1 = 1  
f(1) = L sign (0 ⊕ 1 ⊗ 1) = L sign 1 = 1 
f(2) = L sign (0 ⊕ 1 ⊗ 2) = L sign 2 = 2 
ω0 = 0,  ω1 = 2  
f(1) = L sign (0 ⊕ 2 ⊗ 1) = L sign 2 = 2 
f(2) = L sign (0 ⊕ 2 ⊗ 2) = L sign 1 = 1 
 
ω0 = 1,  ω1 = 0  
f(1)  = L sign (1 ⊕ 0 ⊗ 1) = L sign 1 = 1 
f(2) = L sign (1 ⊕ 0 ⊗ 2) = L sign 1 = 1 
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ω0 = 1,  ω1 = 1  
f(1)  = L sign (1 ⊕ 1 ⊗ 1) = L sign 2 = 2 
f(2) = L sign (1 ⊕ 1 ⊗ 2) = L sign���#����
�������� 
 
ω0 = 1,  ω1 = 2  
f(1)  = L sign (1 ⊕ 2 ⊗ 1) = L sign���#����
�������� 
f(2) = L sign (1 ⊕ 2 ⊗ 2) = L sign 2 = 2 
 
ω0 = 2,  ω1 = 0  
f(1) = L sign (2 ⊕ 0 ⊗ 1) = L sign 2 = 2 
f(2) = L sign (2 ⊕ 0 ⊗ 2) = L sign 2 = 2 
 
ω0 = 2,  ω1 = 1  
f(1) = L sign (2 ⊕ 1 ⊗ 1) = L sign���#����
�������� 
f(2) = L sign (2 ⊕ 1 ⊗ 2) = L sign 1 = 1 
 
ω0 = 2,  ω1 = 2  
f(1) = L sign (2 ⊕ 2 ⊗ 1) = L sign 1 = 1 
f(2) = L sign (2 ⊕ 2 ⊗ 2) = L sign���#����
�������� 
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Wf 1 =(0,1),  Wf 2 =(0,2),  Wf 3 =(1,0), Wf 4 =(2,0). 
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*��������� /��� �n=1, k=����W= (ω0=1 ; ω1=2 ). 
2.1. (���
���
�p, (7-1)/3=2 –����������
��*�� ����
�p=7. 
2.2. .�����
�L=GF�$
#"��� ��� ��� ��� 	�� ��� �%� � �� ����
���
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�	������
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 ε=3, 3 ∈  GF(7);   GF(7)={30=1, 31=3, 32=2, 33=6, 34=4, 35=5} ∪  {0} 
2.3. ���������
��
���� ���������σ = 3(7-1)/3 = 32 =2  
 ��������
���#�
���"�

0, 21, 22} = {1, 2, 4}. 
2.4. /�� 	
��� L{7} = {0, 1, 2, 3, 4, 5, 6)�� ��� 
�����
�� �
���� ���
����
���
�#�������L sign z����
 
L sign 1=20=1  (1=30) 0(7-1)/3 ≤  0 <(0+1)(7-1)/3 
L sign 2=21=2  (2=32) 1(7-1)/3 ≤  2 <(1+1)(7-1)/3 
L sign 3=20=1  (3=31) 0(7-1)/3 ≤  1 <(0+1)(7-1)/3 
L sign 4=22=4  (4=34) 2(7-1)/3 ≤  4 <(2+1)(7-1)/3 
L sign 5=22=4  (5=35) 2(7-1)/3 ≤  5 <(2+1)(7-1)/3 
L sign 6=21=2  (6=33) 1(7-1)/3 ≤  3 <(1+1)(7-1)/3 

2.5.  (�� ���
�#�������f(x1) ���
���
�
������������W(1,2).    
 ω0 = 1,  ω1 = 2  

  f(1) = L sign (1 ⊕ 2 ⊗ 1) = L sign 3 = 1 
f(2) = L sign (1 ⊕ 2 ⊗ 2) = L sign 5 = 4 
f(4) = L sign (1 ⊕ 2 ⊗ 4) = L sign 3 = 2 
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